
Spiel 1 Spiel 2 Gesamt

Spiel 071 15:18 H 1 RUMETSHOFER Stefan 63 + 52 = 115 #

H 2 HIESZBÖCK Horst 52 + 52 = 104 O

Spiel 073 15:34 H 3 HIESL Christoph 60 + 54 = 114 O #

H 4 ÖLLERMEIER Fritz 43 + 52 = 95 # #

Spiel 075 15:50 H 5 FRÖSCHL Max 52 + 52 = 104 #

H 1 RUMETSHOFER Stefan 51 + 48 = 99

Spiel 077 16:05 H 2 HIESZBÖCK Horst 49 + 47 = 96

H 3 HIESL Christoph 58 + 49 = 107

Spiel 079 16:22 H 4 ÖLLERMEIER Fritz 50 + 60 = 110 #

H 5 FRÖSCHL Max 59 + 60 = 119 # #

Spiel 081 16:38 H 1 RUMETSHOFER Stefan 42 + 53 = 95 O #

H 3 HIESL Christoph 47 + 44 = 91

Spiel 083 16:55 H 2 HIESZBÖCK Horst 43 + 49 = 92

H 4 ÖLLERMEIER Fritz 52 + 55 = 107 #

Spiel 085 17:12 H 3 HIESL Christoph 49 + 38 = 87

H 5 FRÖSCHL Max 56 + 56 = 112 #

Spiel 087 17:30 H 4 ÖLLERMEIER Fritz 45 + 54 = 99

H 1 RUMETSHOFER Stefan 57 + 62 = 119

Spiel 089 17:47 H 5 FRÖSCHL Max 49 + 50 = 99 # #

H 2 HIESZBÖCK Horst 36 + 49 = 85 #


